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Part III  Test yourself

Directions: In this section, you will hear 3 lectures. At the end of each lecture, you will hear three 
or four questions. Both the lecture and the questions will be spoken only once. After you hear a 
question, you must choose the best answer from the four choices marked A), B), C) and D). 

Questions 1 to 3 will be based on the following lecture.

1.	 A)	Mothers’ carelessness.	 	 B) Mothers’ ignorance.
	 C)	Genetic problems.		  D) Emotional problems.

2.	 A)	They were less likely to lose their fetus.
	 B)	They were less likely to give birth by caesarean section.
	 C)	They were less likely to have psychological problems.
	 D)	They were less likely to have more preterm births.

3.	 A)	Because they were limited to England records.
	 B)	Because they were limited to American records.
	 C)	Because they were limited to British records.
	 D)	Because they were limited to Scottish records.

Questions 4 to 6 will be based on the following lecture.

4.	 A)	Because the elders’ pension increases.
	 B)	Because it can improve the quality of life.
	 C)	Because the devices are not that precise.
	 D)	Because customized monitoring makes no difference to the elders.
5.	 A)	It can popularize health monitoring. 
	 B)	It can improve life.
	 C)	It can study congestive heart failure patients.
	 D)	It is not difficult to operate.
6. 	 A)	Because health insurance pay covers the treatment of disease.
	 B)	Because health insurance is very expensive.
	 C)	Because devices are not very accurate.
	 D)	Because customized monitoring is not important to the elders.




